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s 73,302 1,541 i 12,005 2,291 2 60,530] -13,411 s 570 13,726
%5 FHHa—v 18,749 -346] 9B FHHa—V 0 0 b}z A HHa— 18,373 -1,067] 95 AHHHa—y 0 0
(B 13) |®mfEa—p 43,414 2,259 (& 13) |-y 0 0 & 17) |-y 29,507 -12,644 # f3) | MEfHa—py 0 0
it 62,163 1,913 it 0 0 &t 47,880] -13,711 it 0 0
AHHHa—y 0 0 HHHa—n 0 0 HHa—n 0 0 HHHa—n 0 0
s ER e o)y 107 247 A R | MEfHo-L 3,345 199 s R | - 210 210 4+ R |[EHa-0 1,510 -1,933
s 107 -247 i 3,345 199 2 210 210 s 1,510 -1,933
HHHa—u 7 7 HHHa—u 1,359 287 HHa—L 0 0 HHa—v 920 70
FoHgR | M- 1,934 111 ZEoigR | a0 1,922 -936 FoHgR | M- 1,300 -195| F2HigR | HEHHa-L 350 -2,012
it 1,941 118 it 3,281 -649 &t 1,300 -195 it 1,270 -1,942
HiHa—pn 1,669 -27 HiHa—p 498 -37 HHa—pn 1,230 440 HHHa—n 435 -100
544 | M-y 302 2| &4 | EHa- 1,923 -48 54w e | EmHa—) 300 5| (44 | mHa—-y 1,400 -589
{54 2} 1,971 -29 {54 2} 2,421 -85 {54 =t 1,530 445 {54 2} 1,835 -689
HHHa—n 0 0 FHHa—) 0 0 HHa—y 0 0 AHa-p 0 0
ERRRE | - 2,050 515 MR | EfHa—v 7 -6 BR[| - 2,100 700 EMGRHE | oL 0 0
it 2,050 515 &t 7 -6 &t 2,100 700 &t 0 0
Hia—p 0 0 Hia—p 1,500 0 FHHHa—n 0 0 HHa—n 1,500 0
FE - FEA 3 | MEFHa—)L 3 SHIE - FIEA %3 M a— 18,648 -398 I « FIE 4 356K MEHH o)) 0 OFiE - FIE4 353 MEFHa—)) 15,460 -2,405
s 3 3 s 20,148 -398 # 0 0 s 16,960 -2,405
HHa—L 0 0 HHHa—L 1 1 HHa—L 0 0 HHa—L 0 0
EHE G | EHEa- 1,413 91| £ #E K | mEa- 0 0 £ HE R | EHa- 1,100 400 A B H | EEa- 0 0
it 1,413 -91 it 1 1 &t 1,100 -400 it 0 0
Hia—p -1 -1 HiHa—p 1,102 —4 FHHHa—n 0 0 HHHa—pn 1,143 23
oK) M- )L 1,420 794 & O fh | EHI-L 12,385 1,710 O | -y 1,110 -400] & o | EHa-V 12,688 2,488
s 1,419 -795 it 13,487 1,706 2 1,110 -400 s 13,831 2,511
HHHa—L 22,203 -430 HHHa—L 5,973 -317 HHa—u 21,553 -427 HHHa—L 4,483 -1,268
A Et EFHa—)L 82,666 3,729] ¥ A : EFH -V 82,666 3,729 e S i1 B 55,487 -25,019] # & & | EEfHa—p 55,487| 25,019
it 104,869 3,299 it 88,639 3,412 #t 77,040 —25,446 it 59,970 -26,287
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K TRESRRER ] OO D [FIES |1, Axflpsdn LG 115 EOAMRRESR BEEAATO S — MM IS 264, %% TREFRGES ) OO B IRESR I3, mpd it 5 15 EO A MRESBIESE2ATO % — Ml ph oh 5 | 2645,
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2019 4 7 H KR — VTR R 2019 4 7 H ¥ERIo—/ L H KikE

HALAEM T BARERTT HAL BN T B AT

CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
HHa— 0 0 AHa—p 0 0 AHHa—py 0 0 AHHHa—py 0 0
R AE K | Mo 2,842 944| #B R 25 3¢ | HEfHa—) 13,796 2,657 I ER & % | Mo 3,060 1,610] #B 48 2 ¢ | MmEdHa—n 20,140 2,831
s 2,842 944 i 13,796 2,657 2 3,060 1,610 Z 20,140 2,831
Hia—n 514 385 Hia—pn 1,618 255 HHHa—n 700 400 HHHa—np 560 225
o 4R HEFHO—) 18,490 -2,146] M1 4R | M2 23,805 2,363 Mo 6RO | - 16,860 9,450] Mt 4R | 4E{Ha— 18,436 12,086
&t 19,004 -1,761 &t 25,423 2,618 &t 17,560 9,850 it 18,996 12,311
HiHa—p 20,265 -134 HHHa—pn 150 0 FHHHa—n 21,039 1,016 HHHa-v 150 0
f§ #t M- )L 56,754 3,851 1§ &t |fEfHo-p 8,527 -3,328 f§ F& |4z 55,144 14,637 1§ F& | #EfHo- 6,051 5,631
s 77,019 3,717 i 8,677  —3,328 # 76,183 15,653 s 6,201 5,631
%5 FHHa—v 18,615 -134] 9B FHHa—V 0 0 b}z AHHa— 19,389 1,016] |96 HHHa—n 0 0
& 15) | M- 45,609 2,195 & 13) | EfHa—n 0 0 & 17) |-y 43,494 13,987 # f3) | fEfEa—py 0 0
&t 64,224 2,061 it 0 0 &t 62,883 15,003 it 0 0
HHa— 0 0 AHHHa—p 0 0 AHHa—py 0 0 AHHHa—p 0 0
s ER e o)y 534 427 4 B | o 3,331 -14 s R | - 1,395 1,185 4+ &R |EHa-0 2,645 1,135
s 534 427 i 3,331 -14 2 1,395 1,185 s 2,645 1,135
HHHa—L 0 -7 HHHa—L 1,062 -297 HHa—u 0 0 HHHa—L 920 0
FoHgR | M- 2,261 327 E2HigR | MEfHa-L 1,185 -737 FoHgR | M- 1,570 270 H2HhgR | EEHI-V 394 44
it 2,261 320 &t 2,247 -1,034 &t 1,570 270 &t 1,314 44
HiHa—p 1,217 -452 HiHa—p 435 -63 HHHa—py 570 -660 HiHa—pn 435 0
f54Hh4 | -y 278 24| fFavse | EEa-y 2,016 93 & e | EmHa—) 185 -115| 5414 | EHa—-y 2,063 663
{54 2} 1,495 -476 54 2} 2,451 30 {54 =t 755 -775 {54 2} 2,498 663
HHHa—-p 0 0 HHHa—ny 0 0 HHa—y 0 0 AHa-n 0 0
ERRRE | - 2,853 803| EARM | M- 6 -1 BRI | - 700 1,400 EMRGE | EEfHI-v 0 0
it 2,853 803 &t 6 -1 &t 700{  —1,400 it 0 0
Hia—pn 0 0 Hia—n 1,500 0 FHHHa—L 0 0 HHa—n 1,500 0
AESR - R4 e | MEFHa— )L 0 —3RESR - GIEA 363 i a—)) 18,982 334 EIER - R4 33 ME4H a—) 0 OFIE  GIE4 353y fiEfHa— ) 17,895 2,435
s 0 -3 s 20,482 334 3 0 0 s 19,395 2,435
HHHa—L 0 0 HHHa—L 0 -1 AHHa—L 0 0 HHHa—L 0 0
EHE G| EHEa- 1,519 106) 8 R | EHa-L 0 0 £ HE R | - 2,600 1,500 4 8 # | EHEa- 0 0
it 1,519 106 it 0 -1 &t 2,600 1,500 it 0 0
A fHa— 0 1 HHa—) 1,143 41 AHHa—y 0 0 HHa—y 1,148 5
D th M- )L 1,556 136) = o | EiHa-L 15,439 3,054 T Dt | EHa—Y 1,160 50 & ot | MEHHa— 15,050 2,362
s 1,556 137 it 16,582 3,095 3 1,160 50 s 16,198 2,367
HHHa—L 21,996 -207 HHHa—L 5,908 -65 AHHa—u 22,309 756 HHHa—L 4,713 230
e Et MEFH 2V 87,087 4,421 WA F EFH - 87,087 4,421 e S i =B 82,674 27,187l A F EFH a—)L 82,674 27,187
it 109,083 4,214 i 92,995 4,356 7t 104,983 27,943 s 87,387 27,417
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2019 4 8 H EmER|a— VTR 2019 4 8 H ¥EfERIo— LG H KikE

HALAEM T BARERTT HAL BN T B AT

CHLFD APk miH b GUED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
HHa— 0 0 AHa—p 0 0 AHHa—py 0 0 AHHHa—py 0 0
R AE K | Mo 1,052 —1,790] #B R 2 3¢ | a1 6,995 -6,801 AR A % | o 360 —2,700] B 4R 2 % | mpna—p 12,939 -7,201
s 1,052 -1,790 i 6,995|  -6.,801 2 360 2,700 s 12,939 -7,201
HHHa—L 86 -428 HHHa—L 1,722 104 HHa—u 98 -602 HHHa—L 1,370 810
Hoo R HEFH ) 18,423 67| H1 R | M2 27,052 3,247 Mo ER | - 17,230 370l M 4R | Mo 24,457 6,021
&t 18,509 -495 it 28,774 3,351 &t 17,328 -232 it 25,827 6,831
HiHa—p 18,810 -1,455 HHHa—n 150 0 FHHHa—n 19,965 1,074 HHa—n 150 0
f§ #t M- )L 58,764 2,010 1& Ft |- 14,143 5,616 g F& | ME4Ha—V 52,943 -2,201] 1§ Ft |[#E#Ha-n 8,500 2,449
s 77,574 555 i 14,293 5,616 3 72,908]  -3,275 s 8,650 2,449
%5 -V 17,160 -1,455] |95 FHHa—V 0 0 b}z AHHa—L 18,315  -1,074] [5H HHHa—y 0 0
& 15) | M- 50,239 4,630 #F 13) | a2y 0 0 & 7)) |-y 46,343 2,849 #F f3) | fEfHa—py 0 0
&t 67,399 3,175 it 0 0 &t 64,658 1,775 it 0 0
AHHHa—y 0 0 HHHa—n 0 0 HHa—n 0 0 HHHa—n 0 0
s ER e o)y 1,325 91 4+ B |- 3,210 -121 s R | - 1,980 585 4+ R | MmpHo- 3,460 815
s 1,325 791 i 3,210 -121 # 1,980 585 s 3,460 815
HHHa—L 0 0 HHHa—L 1,360 298 HHa—L 0 0 HHHa—V 820 -100
FoHgR | M- 2,182 19| FomngR | mEfHa-v 1,205 20 FoHgR | M- 2,220 650] FF2MhdR | M oy 1,260 866
it 2,182 -79 it 2,565 318 Zt 2,220 650 it 2,080 766
HiHa—p 867 -350 HiHa—p 435 0 HiHa—pn 980 410 HHHa—nv 435 0
544 | M-y 185 93| fFavse | mEa— 1,972 —44 F&we | EmHa—) 185 of E&r4 |EEa—p 2,100 37
154 2} 1,052 -443 54 =} 2,407 -44 {54 =t 1,165 410 54 =} 2,535 37
HHHa—-n 0 0 HHHa—-ny 0 0 HHa—y 0 0 AHa-p 0 0
ERRRE | - 1,701 -1,152] JEMHRHE | EHa- 13 7 BARKE | - 2,000 1,300] BRI | MHa—- 0 0
it 1,701 -1,152 &t 13 7 &t 2,000 1,300 it 0 0
Hia—p 0 0 Hia—p 1,500 0 FHHHa—n 0 0 HHa—np 1,500 0
AIER - GIEAR %% | IEHH a—)) 0 OFIES: - FIE4 363 MEFHa— )L 23,004 4,022 EIER - R4 33 ME4H a—) 0 OFIE - GIE4 353y fiEfHa— )1 20,412 2,517
s 0 0 s 24,504 4,022 3 0 0 s 21,912 2,517
HHHa—-p 0 0 HHHa—-p 0 0 HHa—y 0 0 AHa-p 0 0
R R EFHa—)L 3,010 1,491 4 # | &\HEa— 0 0 £ HE R | - 4,850 2,250 A 4B R | - 0 0
it 3,010 1,491 it 0 0 &t 4,850 2,250 it 0 0
HiHa—p 1 1 AHHHa—pn 1,168 25 HHHa—pn 0 0 -V 1,170 22
D Ath M- )L 1,903 3471 = O | EfHa— 10,951 ~4,488 O fth | - 2,170 1,010 = o fh | EiHI—y 10,810 -4,240
s 1,904 348 it 12,119] 4,463 3 2,170 1,010 s 11,980 -4,218
HHa—L 19,764 -2,232 HHa—L 6,335 427 HHa—u 21,043 -1,266 HHa—L 5,445 732
A Et MEFH 2y 88,545 1,458 # A& F EFH - 88,545 1,458 e S i = B 83,938 1,264 #& A FF | EHHa- 83,938 1,264
it 108,309 -774 it 94,880 1,885 7t 104,981 -2 it 89,383 1,996
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2019 4 9 H FEReR|a— VG KRS

AL AR HIPT: BARSRT

2019 4 9 H ¥EReRIo—/ LG H KikE

HUAZ AR T HARSRAT

CHLFD APk miH b UED) A PR RiH b CHLFD AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
R AE K | Mo 807 245 #B R 2 3 | fHa—- 8,273 1,278 I ER A % | Mo 150 —210) #B 4R = % | Mo 5,150 ~7,789
s 807 -245 s 8,273 1,278 £t 150 -210 i 5,150 -7,789
HHa—L 86 0 HHHa—L 1,587 -135 HHa—u 300 202 HHa—L 1,155 -215
Ho R EFHa—)L 18,285 -138] M1 R | MEfHa- 30,038 2,986 Mo 6RO | - 4,420| -12,810] Hi 4R | #EfHa—L 15,390 -9,067
it 18,371 -138 it 31,625 2,851 &t 4,720 12,608 it 16,545 -9,282
Hia—pn 20,798 1,988 HH#Ha—v 150 0 A HHa— 13,854  -6,111 HHa—n 150 0
f§ #t - 58,869 105 1§ FE |EHHa-L 11,339 -2,804 f§ F& |4z 48,624 -4,319] 1§ &t |[#E#Ha-n 15,939 7,439
s 79,667 2,093 s 11,489 -2,804 £t 62,478| 10,430 i 16,089 7,439
%5 FHHa—v 19,148 1,988 |oH HHa—n 0 0 0)5) HHHa—n 12,204  -6,111] [9H -V 0 0
& 15) | M- 53,162 2,923 # 13) | a2y 0 0 & 17) |-y 43,844 2,499 #F f3) | M-y 0 0
&t 72,310 4,911 it 0 0 &t 56,048  -8,610 it 0 0
AHHHa—y 0 0 HHHa—n 0 0 AfHa—) 0 0 HHa—) 0 0
s ER e o)y 341 -984] 4 4R | dEfHo- 4,170 960 s R | - 350 -1,630] 4+ B |fEHa-0 2,164 -1,296
s 341 -984 s 4,170 960 £t 350 1,630 i 2,164 -1,296
HHHa—u 0 0 HHHa—L 1,091 -269 HHa—u 0 0 HHHa—L 710 -110
2R MEFH -y 2,864 682 FoHngR | Mo 2,237 1,032 HotiER | MEHHa- 1,060 -1,160] ZE2MigR | M-y 609 651
it 2,864 682 &t 3,328 763 Zt 1,060]  —1,160 it 1,319 -761
HiHa—p 1,190 323 HiHa—p 462 27 FHHHa—n 420 -560 HiHa—pn 387 -48
fEata |- 185 of Fe&hae |-y 1,653 =319 (EEALSANE 3R 160 -25| fE&rha | M- ol -2,100
(G it 1,375 323 {54 2t 2,115 -292 154 =t 580 -585 {54 2} 387 -2,148
HHHa—L 0 0 HHHa—v 0 0 HHa—L 0 0 HHa—L 0 0
ERRRE | - 1,905 204 AR | MfHa- 0 -13 BRI | S 800  -1,200] EARHRAE | MHa- 0 0
&t 1,905 204 &t 0 -13 &t 800  —1,200 it 0 0
HiHa—pn 0 0 HiHa—pn 1,500 0 HHHa—pn 0 0 -V 1,500 0
RIESAR - GIEAR 3% | MEHHa—)) 0 OFESR - RIEA 33 i a—)) 22,719 -285 EIE 2 - GIE 4 356y A fH a— )L 0 OFIE  GIE4 353y fiEfH a— )1 16,102 -4,310
it 0 0 it 24,219 -285 gt 0 0 it 17,602 -4,310
Hia—n 0 0 HiHa—pn 0 0 HHHa—n 0 0 - 0 0
EHE G | EHEa- 4,465 1,455 ZE R | -0 0 0 £ HE R | EHa- 3,300  -1,550] A= 4B 4R | MEHHa-L 0 0
&t 4,465 1,455 it 0 0 &t 3,300  -1,550 it 0 0
HHHa—-y -1 -2 -y 1,172 4 AHHHa—) 0 0 IV 1,170 0
O il M- )L 2,038 135 & o fh | M- 9,330 -1,621 O fh | -y 1,660 510 & o |EHa-V 5,170 -5,640
it 2,037 133 it 10,502 -1,617 &t 1,660 -510 it 6,340 -5,640
FHHHa—L 22,073 2,309 HHHa—L 5,962 -373 HHa—L 14,574 -6,469 HHa—L 5,072 -373
i E Et MEFH 2y 89,759 1,214 #® &3 EFH -V 89,759 1,214 e S i1 B 60,524 -23,414] # & FF | EHa— 60,524 23,414
it 111,832 3,523 it 95,721 841 it 75,098 29,883 it 65,596 -23,787
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2019 £ 10 H ZERERI=— T FYE S

AL AR HIPT: BARSRT

2019 £ 10 H 2EpER=— L HGH Kk s

HUAZ AR T HARSRAT

CHLFD A% miA b QIUED) A E5%| miA b CHL T AXFkE | AiAkk WIUED) A#xFEE | miAk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
R AE K | Mo 1,566 759| B R & 3k | MEfHa— 4,657 -3,616 I ER A % | o 150 o & #8 & 3% | MEfHa—p 4,195 -955
s 1,566 759 s 4,657 3,616 2 150 0 s 4,195 -955
HHHa—L 22 —64 HHHa—L 2,075 488 HHa—L 0 =300 HHHa—L 2,170 1,015
o 4R HEFHO—) 12,869 -5,416] M1 R | M- 30,010 -28 Mo #R | - 12,230 7,810 #H1 4R | #EfHa— 29,315 13,925
it 12,891 -5,480 &t 32,085 460 &t 12,230 7,510 it 31,485 14,940
HiHa—pn 18,774 -2,024 HHHa—n 150 0 FHHHa—n 18,984 5,130 AHa— 150 0
f§ #t M- 53,399 -5,4701 1§ FE | MEHa—n 13,833 2,494 f§ F& |- 53,215 4591 1§ #t |[#E#Ha-n 19,463 3,524
s 72,173 -7,494 s 13,983 2,494 £t 72,199 9,721 it 19,613 3,524
%5 FHa—V 17,124 -2,024] 95 FHa—V 0 0 0)5) HiHa—n 17,334 5,130 [5H HHHa—L 0 0
& 15) |- 47,705 -5,457 #F 13) | a2y 0 0 B 17) |-y 47,365 3,521 (& 15) | M- 0 0
&t 64,829 -7,481 it 0 0 &t 64,699 8,651 it 0 0
AHHHa—y 0 0 HHa—n 0 0 HHa—n 0 0 HfHa—) 0 0
s ER e o)y 939 598] 4k R | MEfHa- 4,014 -156 s R | - 1,575 1,225 4+ &R | EHa- 3,540 1,376
s 939 598 s 4,014 -156 £t 1,575 1,225 i 3,540 1,376
HHHa—L 0 0 HHHa—L 1,202 111 HHa—L 0 0 AHHa—V 1,100 390
FoHgR | M- 1,848 -1,016] FH2HgR | MEfHa-L 1,385 -852 FoHgR | M- 1,580 520 EEoMigR | M- 530 -79
it 1,848 -1,016 it 2,587 -741 &t 1,580 520 &t 1,630 311
HiHa—pn 1,033 -157 Hia—p 434 -28 HHa—)y 830 410 HHa—nv 437 50
§4h4 | EHa—L 179 -6| &4 | EHa—1 1,484 -169 544 | BiHa—V 185 25| 5444 | EHa—-y 2,244 2,244
24 2 1,212 -163 54 it 1,918 -197 G 2t 1,015 435 fas it 2,681 2,294
HHa—L 0 0 HHHa—v 0 0 HHa—L 0 0 HHa—L 0 0
ERRRE | - 747 -1,158| EMRHE | MEHa—- 13 13 BARKE | - 1,350 550 EEARRAE | M- 0 0
&t 747 -1,158 it 13 13 &t 1,350 550 &t 0 0
Hia—pn 0 0 Hia—ny 1,500 0 FHHHa—L 0 0 HHa—n 1,500 0
FIE « FIEA 353K | 4R a— 0 OFIE: - FIE4r 3563y 4R a— 17,409  -5,310 I « FIE 4 356K M4 o)) 0 OFiE - FIE4 353 MEFHa—)) 13,178 -2,924
it 0 0 it 18,909 -5,310 gt 0 0 it 14,678 -2,924
AHHa—y 0 0 AHa—)y 0 0 AHiHa—) 0 0 HfHa— 0 0
A HE G | EHEa- 3,221 -1,244] A 4B R | EEHa- 0 0 £ HE R | EHa- 2,600 -700] A B H | EEEa- 0 0
&t 3,221 -1,244 &t 0 0 &t 2,600 -700 &t 0 0
HiHa—p 0 1 HiHa—p 1,158 -14 HHHa—pn 0 0 AHHa—L 1,165 -5
O il e o)y 2,098 60 & o |- 4,061 -5,269 O fh | -y 1,540 120 = o | EHa-v 1,960 -3,210
s 2,098 61 s 5,219 5,283 £t 1,540 -120 it 3,125 -3,215
HHHa—L 19,829 -2,244 HHHa—L 6,519 557 HHa—u 19,814 5,240 HHHa—v 6,522 1,450
wE R | EHEa- 76,866| 12,893 ¥ & 3 HEFHO—) 76,866 —12,893 e R | - 74,425 13,901 # A& | EHa-y 74,425 13,901
it 96,695 15,137 it 83,385 -12,336 it 94,239 19,141 it 80,947 15,351
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2019 £ 11 A ¥R o — L5 5k e 2019 £ 11 H R — L HiGH Kk s

HALAEM T BARERTT AL T B AERLT

CHLFD APk miH b QIUED) A PR RiH b {HLFD AXRFRE | #iH (GUED) AXFEE | miHk
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
R A | Mo 604 962 #B R 2 3 | fHa— 8,623 3,966 T ER A % | Mo 950 800| #B 4R = X | M- 1,400 -2,795
s 604 -962 s 8,623 3,966 £t 950 800 i 1,400 -2,795
HHa—L 25 3 HHa—L 1,867 -208 HHa—u 21 21 HHa—L 2,015 -155
Ho R HEFHI—) 14,800 1,931 i R |20 29,905 -105 Mo ER | - 14,195 1,965 M 4R | MEHHa- 29,241 -74
it 14,825 1,934 it 31,772 -313 &t 14,216 1,986 it 31,256 -229
Hia—p 18,462 -312 HiHa—p 173 23 HHHa—pn 20,001 1,017 HHa—n 450 300
= 3 |mmaon 52,440 —959| £t |mEHa-p 12,393 ~1,440 & ¥t |#mfAa-p 50,958 2,257 f& W& | MEHa-v 18,680 783
s 70,902 -1,271 s 12,566  -1,417 £t 70,959]  -1,240 i 19,130 -483
%5 -V 16,812 =312 |1»H -V 0 0 0)5) HiHa—n 18,351 1,017 o6 HHHa—L 0 0
& 15) |- 46,513 -1,192 #F 13) | a2y 0 0 & 17) |-y 44,208  -3,157 #F f3) | M-y 0 0
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